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In the following question, a sentence is given with four 

words marked as (A), (B), (C), and (D). These words may 

or may not be placed in the correct order. Four options 

with different arrangements of these words have been 

provided. Mark the option with the correct arrangement 

as the answer. If no rearrangement is required, mark 

option (5) as your answer.



Despite her dubious(A) ancestry, the claim(B) artist 

continued to con(C) her parents were of noble(D) birth.

1. A-C

2. A-D

3. B-C

4. B-A

5. No change required



Vikas knew(A) he had approaching(B) too many beach 

drinks when he saw the surreal(C) figure of a mermaid 

consumed(D) him.

1. A-B

2. B-C

3. C-A

4. D-B

5. No change required



The firm(A) has decided to allot(B) the majority of its 

profits to research and development to ensure(C) it remains 

number one in innovation(D).

1. A-D

2. B-C

3. D-B

4. C-A

5. No change required



If you permit(A) your friend to do something forcefully(B) 

instead of harmful(C) stopping them, what they suffer(D) 

will be on your hands.

1. A-D

2. C-B

3. D-B

4. C-A

5. No change required



My lawyer made an sway(A) to the judge as to why my 

sentence was unfair and unjust(B), but unfortunately(C) it 

did not appeal(D) the man.

1. A-D

2. B-C

3. C-D

4. B-D

5. No change required



Read the following sentence to determine if there is any 

grammatical or contextual error within it. If there is an 

error, it will be in one part of the sentence. Identify the 

part in which the error exists and mark it as your answer. 

Please consider the part in bold as grammatically correct. 

If there is no error, select E, i.e., 'No error' as your answer. 

Please ignore punctuation errors.



Finance Minister Nirmala Sitharaman expressed concerns 

(A) / about fuel, food security, and supply chain 

disruptions, (B) / emphasizing the need to prevent / 

essential supplies from becoming (C) / instruments of war 

and disruption. (D) No error (E)

1. A

2. B

3. C

4. D

5. E



If daily salt intake is reduced (A) / by five to eight grams, 

/ the risk of cardiovascular disease can be lowered, (B) / 

and this reduction can help preventing (C) / obesity and 

high blood pressure. (D) No error (E)

1. A

2. B

3. C

4. D

5. E



Film critics often faces pressure to (A) / write positive 

reviews or risk losing / access to exclusive screenings, (B) 

/ talent interactions, and merchandise due to (C) / the 

influence of marketing and social media fandom. (D) No 

error (E)

1. A

2. B

3. C

4. D

5. E



Hosting the Olympics is a (A) / prestigious opportunity to 

display / a nation's strengths and soft power, (B) / yet it 

also exposed both the positive and negative aspects, (C) / 

making it a double-edged sword.(D) No error (E)

1. A

2. B

3. C

4. D

5. E



Evaluate the following word, accompanied by three 

sentences containing it. Determine the sentence(s) that 

accurately convey(s) the meaning of the given word.



NEXUS

A. The smartphone has become a nexus of communication and 

information.

B. In literature, the protagonist often serves as the nexus around 

which the story revolves.

C. The machine was rotating on its nexus and was dangerous for 

factory workers.

1. Only B

2. Only C

3. Only A

4. Both A & B

5. Both B & C



DOUGHTY

A. The doughty knight fearlessly faced the dragon to save 

the kingdom.

B. Despite facing numerous challenges, she remained 

doughty in her pursuit of justice.

C. The doughty boy could not face the bully in the class.

1. All A, B, & C

2. Only A

3. Only B

4. Both A & B

5. Both B & C



DEARTH

A. The drought  resulted in a dearth of water in the region.

B. The big guy threatened to dearth him in front of his 

friends.

C. The dearth of qualified candidates made the hiring 

process challenging.

1. Only C

2. Only A

3. Both A & B

4. Both B & C

5. Both A & C



Below are given some sentences out of which the sentence 

numbered 4 has been correctly placed. The rest of the sentences 

A, B, C, D, E, and F need to be arranged correctly in order to 

form a logical order.



1. Spoken Hindi is mutually intelligible with Urdu, another 

official language of India.

2. It is one of the official languages of India along with English.

3. If we include Urdu with Hindi, Hind is the third most-spoken 

language in the world after Mandarin and English.

4. However, it is not the official language of India as independent 

India did not accord such status to any one language.

5. Hindi is the lingua franca of most North Indians and to a lesser 

extent to Indians in other parts of the country.

6. Official Hindi is derived from Sanskrit and is written in the 

Devanagari script.

7. It is one of the 22 languages recognized by the Indian 

constitution. 

Which of the following 

is the FIRST statement?

1. F

2. D

3. E

4. A

5. B
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